s 1 (230)¥
Mgt (234)R=2 SR
_ bSEl=
2.8 HNE. 2. A= Of &k H OEA:F&” Hnsz
200 Ar2X KIS 11,786,737 6,085,745 5,700,992
230 SFEAAFES 11,419,049 5,697,498 5,721,551
234 A== 10,902,877 5,074,773 5,828,104
401 AlEHIL E0HY| 10,902,877 5,074,773 5,828,104
401-01 (A& HI) 10,859,000 5,055,000 5,804,000
Ao
[EZAI]
O sHEMESHIHNTAML(ZEASE NEEISSAY)
1,500,000,000& X 1&1 = 1,500,000
A E=4l 1,050,000
= Hl 67,000
Al Hl 158,000
J| EF(K-water) 225,000
O sHEMESHINLAMNL(I SR YA A AHAIY)
429,000,000& X 14 = 429,000
XS =4l 300,000
= ul 39,000
Al Hl 90,000
[XHRIAF ]
O NegaxE 2HAUISXC . S2FIAAH = J|2HE L AAEH 29
1,500,000,000& X 141 = 1,500,000
O H2H =22 279 SESA 600,000,000& X 14 = 600,000
O 02N SXel, 2712 2x=7Y &2 A 200,000,000& X 1& = 200,000
O 740 A22| gs71Y SEHSAL 800,000,000& X 1& = 800,000
O gH 2el(34) 272 S SA 300,000,000& X 1& = 300,000
O Xl wel(getad) 379 3 A 300,000,000& X 1& = 300,000
O gH S22 AT Hi2Z XIS A 220,000,000& X 1& = 220,000
O 2K &4 1,200,000,000& X 1& = 1,200,000
O F4ui=X & 4d 1,000,000,000& X 1& = 1,000,000
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B (200)KHEXXS
3 1 (230)RERAFS
Mg : (234) 7 =2 Crola )
" AT
8. Mg NI ooy | LNG | BRS
(XA AFE]
O 2472 HITA 2
3,920,000,00021 X 0.36/100 14,112
O BT Al 3,000,000,00021 X 0.36/100 10,800
O =23 WBRA 1,160,000,0008 X 0.36/100 4,176
O B42N7T ZYFUIZA 100,000,0002 X 0.90/100 900
St A A
O JHLE BH4X =35 TW/TCH DA A
120,000,0008 X 0.72/100 864
O Boh4X 3= 24(2LY)BA
500,000,00081 X 0.72/100 3,600
O 24 Y4 NEE 24 BATA
130,000,0008 X 0.72/100 936
235 JIAHE X 503,672 594,225 90,553
401 AIEHIZ R0 503,672 594,225 290,553
401-01 (Al£H]) 500000( 589,500  ~89,500
M+ E
O 445 SATVSLHAAY 23 A
220,0002! 500% 110,000
St A A
O #2334 =5 2F BIDH (5571, 7271)
DE 200HP 75,000,0008 X 202 150,000
O B3F4T =S AL NCCY DHZA 50,000,009 X 42 200,000
O 4T S4 WELAL U CCTV AXI A 20,000,002 X 2MHz 40,000
401-03 (Al =20H8l) 3,672 4725 21,053
Aok St
O 44E SANSLHAAY &3 A
110,000,008 X 0.72/100 79




2 D (200) X2 RE
P (230)REXHAES
|8t (235) 71 HI & X e XA
5 s dEe
2. 8 Mg 5. MSs 04l Ao O Ak o8 Hnsz2
A2 AL A
O 82 2% L5 2H BZDH(55D1,7801)
150,000,000 X 0.72/100 1,080
O 24T LSAIE2 MCCEH WHIZA
200,000,000 X 0.72/100 1,440
O Hiz2=X 94 T SAAIE L CCTV &XIALY
40,000,0002 X 0.90/100 360
237 ZJ|RHIE 12,500 28,500 216,000
405 XHAHFSHIS 12,500 28,500 16,000
405-01 (KH&HHEHI) 12,500 28,500 216,000
ArsHE 1
O AI2A HIZE WA, A S) 300,000 X 504 1,500
S22 AL A
O A2 oA wHZL(WFAS =) 5,000,000 X 1CH 5,000
O AlRa WED wHIA(WRAS =) 1,000,000 X 104 1,000
O & 2 5,000,000& X 1CH 5,000
800 OilHIHI 367,688 388,247 20,559
800 OflHIHI 367,688 388,247 /20,559
801 oilHIHl 367,688 388,247 20,559
el ey
O a2 X204 oHIH]
367,688,0008 X 1Al 367,688




